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What becomes clear about Mr Thompson in paragraph 47?

A He will be released soon after the trial because of poor health.

B He will be unable to pay for his legal representation in the future.
Cc He will probably be found guilty of all charges filed against him.

D He will stay behind bars for a while because of his past behaviour.

Tekst 11
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Uit welke zin in alinea 1 blijkt dat men nog niet weet of de nieuwe aanpak
werkt?

Citeer (= schrijf over uit de tekst) de eerste twee woorden van de zin
waaruit dit blijkt.

Kies bij _33-1 en__33-2 in alinea 2 het juiste antwoord uit de
gegeven mogelijkheden.

A Besides — when

B Consequently — because

Cc However — but

D Nevertheless — while

Which heading would fit paragraph 3 best?
A The new approach

B The origin of the idea

Cc The overall effect

D The risky side

Which is true according to paragraph 37

In Finland,

A accidents primarily happen in bad weather.

B the reflective paint on animals washed away quickly.
Cc there is a lot more traffic than in Dartmoor.

D they applied paint to different parts of the animals.

What becomes clear from paragraph 47?

A DLPS is offering rescue services for wounded animals.

B DLPS is unsure if their solution will have a lasting effect.

c DLPS fears the colouring might damage the animals’ coats.
D DLPS has asked a Finnish company to help out.

Let op: de laatste vragen van dit examen staan op de volgende pagina.
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